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1= 1-n matrices (AB)_] =7 (AB)—] =2 & U5 -1 -1
4737 (D) 347 (© RN (:) 47w
2 - For each number 'x' the absolute value of x is denoted by:-' -~ bUrl Jod FEx sus -2
0 (D) x| (C) -x (B) x (A)
3 - The number of angle bisectors in a triangle is: - G % J..iﬂt L Ui Jo el L 3
4 (D) 3(C) 2(B) 1(A)
4 - Solution set of (x = 2)2 =4 is. - e fy (x = 2)2 o
{-6,-2}(D) {6,2}(C) {-6,2}(B) {0,4}(A)
5 - Solution Set of x2 -5x+6=0 is. e e fy x2 ~5x+6=0 -5
{-2-3}(D) {2:3)(0) {2}(B) {3}(A)
6 (a- h)(.::w:b-»f;?): =(a—b)(a2 +ab+bz)-6
a’+ b’ (D) 84-b’ (©) (a+b)’ (B) (a-b)> (A)
7- A matrix consisting of only one row is called a ___matrix. -2 bl 0 B LSS T
Scalar A° (D) Identity dis 4~ () Column (¥ (B) Row (/& (A)
8 - If a polynomial P(x) of degree n 21 is divided by g?;,?’ﬁ & N2 1 0 ¥ P() J;jfﬁ -8
polynomial 'x - a' where a is a constant, PR J‘;"\__fi a.zil gf(:ﬂc.. ‘x-a'
then P(a) is: Sn___ciSra)
a(D) 1(C) . zero #(B) remainder (i (A)
9 - Area of a rectangle is: - br oy KJ—W -9
¢2 (D) %xf?xb (c) %x.‘,’xb (B) ¢xb (A)
10 --An irrational number that contains radical sings ol J 2ie Ju Uk Jbt_ﬁf .-,,f -10
is called a. - t‘!lv,-'/ —_—
surd (i3 (B) mixed surd 7.5 55¥ (A)
natural number 4 (.3 (D) rational number % Jt (C)
11 - HCF of 6pgr and 15qgrs is . e (ﬁfi;k ¥ 6pqr . 15qrs - 11
15pqrs (D) 3pqrs (C) 3pqr (B) 3qr (A)
12 - Point on the axis does not lie in/on any . St S o/.h‘;i 2y i - 12

circle 51 (D) quadrant ¢ (C) line & (B) plane (& (A)
(&5
pa—




o

13 - A quadratic polynomial is of degree.

3(D) 2(0)
I1-1f-3>xandx>y,then -3 y

< (D) < (C)

15 - An angle containing more than 180° and
less than 360" is called.

obtuse angle .sj 2> (B)

Acute angle sl mb (D)
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e bt K Ban-18
1(B) oA

-3 y?nx>y_a:i—3>xﬁ-14
> (B) > (A)

Fi15 e 180° i § U goli et - 15
s e (’:- 360°
Reflex angle sl u’g A
straight angle (E‘v =15 (C)
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Section I J;LJD

2- Write short answers to any SIX questions:  (2x6 = 12) g ALy 6) g Jf 49
32x3y7 32x%y
i - Reduce 5 to the lowest term. &P fﬂ’d’ -1
- Y
) 3 ) y
- f P(y)= y4 +~2-y3 —y2 +1, then find P(y) Yy=2 jx P(y): y4 +-2—y3-y2 154 i
for y =2 ZEePy)d £
i - Simplify: /3643 Lot Y V3623 -ii “,
v - Define quadratic polynomial and give an example. “ZJe sl é _,y/‘TJ (?J/:J,L;JJ » -iv
v - Factorize: 36d2—i ~7”—‘7L5;J 36(12-1 =¥
_ . . | 5 2 1 _
vi- Factorize: X* +—5-2 g x +—5=2 -vi
X X
vii - Find HCF of abxy and a’be. -’é_fr)" (ﬁﬁl;b ¥ abxy s a’bc - vii
viii -"Find HCF of 4abc? 8a'be ,6ab'c by factorization. -2 P ¥ dabe? 8abe 6abk 25 L $F - v
1x - Write the names of methods to find HCF. _aﬁrt Zuspl Lf(}*‘ (pl;k -ix
3- Write short answers to any SIX questions: (2x6=12) e Ly 6) =20 23
i - Solve: 3x+3(x+])=69 _ng’f3x+3(x+l) 69 .i
1 1 .
ii - Solve the Inequation:gx > Z(x-d) ZE S —~x> ( !) bl £ Ji
iii - Solve: 3(x~2)<2x+1 _gw’ 3(x—2)< 2x+1 -iii
2 - izati SO 3x2 —8x=3=0 -iv
iv- Solve 3x“- 8x—3 = 0 by factorization. s {2k 4 3x° —-8x-3=0
v - Solve: 2_\~z+15x—8_—_0 -éwf2x2+15x-8=0 -V
vi- Défine Quadratic equation. -?.j’:" hé,f/:"g,(:.bl/ Gns -vi
vii - What is meant by square matrix? | ey Ve Mdy -vi
y ' o a 2 I x
viii - Find A — B When Az[' :] and Bz[; i] -y A-B jx B=[3 h] sl A=L 4] A i
y : .
# -] 2 . . -1 2 -ix
IX - Find determinant of A if A= 3 _4a _L{/r:"’C’z’”KA#FMA= _3 _4 A

(Z15) 6(/(]“____/ h_/f
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Write short answers to any SIX questions: (2x6=12) .é;ful.fi/"‘éf.uulr{& ;J:( -4
i - Define Similar figures. E e S -
n - Define major segment of circle. ..é o Ja/,.xh’ -ii

1 -
-

V-

Define adjacent angles.
Draw a tangent to circle.

Define median of a triangle.

vi - Define Pythagoras theorem.

Vil -

Find the length of hypotenuse of right triangle

" if base = 3 and altitude = 4

Vil -

X -

- (a)

(b)

(6)

- (@)

(b)

Locate (-2.4) in Co-ordinate plane.

Find distance between A(7,-2) , B(-2,3) points.

(U_"'/" 4 L7 5l /f 8 ZJir )

If x =~3—~2.then find the values of

i xz +'—¥—'
(ii) =2

I
() X=— and
X
Factorize: x9+y9
Find HCF of x”+ 3x—4,x>=2x°= 2x4 3 by

division method.

Solve and check: m—13=4m+7

Solve X~ —10x -3 =0 by completing square method.

Construct a square whose one side is 3.5cm.

1 27
it M=| . 4J then find MM ™!

Use Cramer's rule to solve:
S5x+2y=13 , 2x+5y=17

Calculate the radius of a sphere of volume. g50 m3

77

take 7T to be -”;}1

Show that the points A(-3,0) , B(3,0) and C(0,3\/§) are

GuI-7_ 9

the vertices of an equilateral triangle.

115-219-47000

_é i Ju:';b RS it
e Puvbeih -iv
F s Lel oy

2y

-vi
e QU 0 L sl sihats vid
okl =3 s =4 5
& ":‘_'5;{5{ i s (-2,4) -viii

...'égr;"’.bb wbn L6 B(-2.3) » A(7,-2)

- 1IX

Section II rJ) >

Tux=A3-25() -5

- 1
el x2+;f (i) x-—;lg ()

i K +y’
—2x2-2x+3 o x2+3x=4 () -6
_ér:l”ryf;br_.%)
EEUy A E S m-13=Vm+7 (&)
E S 3PS xE-10x-3=0 () -7
m KEFIBE K S ek By (L)

1 2
S MM M=[3 Jﬂuf) -8

IpL L SI5x+2y=13 , 2x+5y=17 ()
S
e 24850 £ ¥y S permk e S (L) -9

L,{:‘Ft{x3

_q..——u-v’(f?!.ﬁ

C(0,34/3) 1 B(3.0), A(-3,0) 56 S 25 b ()
U UL Sade el
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- Any value of the variable which makes the equation a true St e el u*-r’ ol 0y 213

statment is clled: - :}Uf
constant & (D) solution f (C) inequality =lst- Z (B) equation =hi~ (A)

- Two matrices with the same order and equal correspoinding Ust L Gl sl & p &S 60 - 14
~elements are called: ' -t L!Jv-’/__
diagonal matrices /¥ J (B) equal matrices /5 51+ (A)
unequal matrices /¢ $ie # (D) square matrices 6§/ (C)

- An irrational number that contains radical signs is called E.i:-.l'-.‘c. bl et Sk S Fo L 15
surd (1.5 (B) mixed surd (1,15 b (A)
natural number % (.3 (D) rational number s (7t (C)

116-(11)-219-47000 C) Ujr-——l/-- / 5’
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Marks: 60

2 - Write short answers to any SIX questions:

1o if P(x)=2x"~2x-+x~1, then find P(-2)

Sx-y~

1 - Simplify: ; 4
G T v

1 - Define a Surd.
2 -
v - Factorize: 2 vx+ 18y~ + 3zx+ 27 zy
v - Factorize: Sy~ -y
vi- Factorize: 2- 3y -2y
o hl
vii- FindHCFof 3x"v712x
Lk i)
vin- FindLCM I8ub~¢ 2dab c”

1x - Define H.C.F.

3 - Write short answers to any SIX questions:
i - Define absolute value.

ii - Solve: 3(x+3)=14+X

iii - Soive: [2x-3|=5

- Defi_ne quadratic equation.

v - Soive by Factorization: 2 xz +]15x=8=0

vi - Solve: %(Hl) =3

vi1 - Define square matrix.

-3 2]-15
vili - Find the product of: 4 —1ll-1 3

-1 2
IN-|f A —{3 _J,then find det. A

60 : u’:L
ES ey Q) Lt e S Ji o 1 LS

Section I J3l.2

@x6=12) e L ey )2 8 -2
2 P(-2) S P(X)=2x~2x2+x-1/]
2
..éf/‘! 12x? y -

S
ek 2yx+18y2+3zx+2Tzy -iv
g f 8 -y -y

Lkdrend 2-3x-2x2 -vi

2x?y? 15x y1 by factorization. -Z_-':r}"'ﬁvl;ts S 90k K3x5y2,]2x2y4,l5x3y2 - vii

& o Pioeshs ¥ 18ab7c 24ab%c” - viid
E A -ix

ez AL 2ty 6) 2 0 -3
i
_gd"/ 3x+3)=14+x _i
e S px-3=5 i
2 e oy -iv

(2x6=12) &

@ S 2ok f 2xP415x-8=0 -V
-sz-’J’s’lf;(x+1)=3 -vi
S, i

-3 2 H-15
-ér}”v/"‘y“([.q -1][—1 3] o

g ad § dot A Fx A= { '3 _24])7 e

) (Z13) 60\7———— Z_-———/ 7
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!-' 4 - Write short answers to any SIX questions: (2x6=12) i J/ull?/"’z. Ul (6) itjf 4
1 - Define an acute angle. ..é i J,.,:L: ol -1
ii - Find the value of x in the given triangle. el et §s -y

i - Define chord of a circle. . A AL -

w - Define altitude of a triangle. E P AL ats Ly

v - Draw an equilateral A ABC in which: F & ABC e Ll o -y

mAB mBC - m J = Sem m KE = n EC_ =m EX =5cm

vi - Define area of a closed figure. -ga.g/""d:"':&l}ey -vi
vii - Find the volume of the cube whose edge is 8m. - LB LW ér}*’(" !'_.de__f - vii
viin - Define ongin -é ...g/iJ 'f:y - viii I

s - Describe the location of (~2,4) on the number plane, SEE SR G (-2.4)  ix

(A2 20 28 LU ) Section T (9 o

5- (a) Simplify: \‘\\j x:_)_{yz Z 2/ W () -5
(b) Factorize: ;6 _ 06 e mé-p6 ()
6- (a) Findthe HC.F of x* -2 x¥. 4 (6_ 6 Pl 12yt 16,5 () -6
by factorization. _Z.-':r:'-“‘ (57.4“._-_!;)}
(b) Solve and check; v3x-2 -Vx =2 SE Uy S VB2 -VE =2 ()
7- (a) Solve 3x % 8y-4= 0 by completing squre method. R 4 &, Jf 25 3x%45x—-4= o (W) -7
(b) Construct a rectangle whose adjacent sides are K74 gl § tust 1o £ P Lt ()
4cm and 3cm ~ur KET3
8- (a) Verify that (AB)C = A(BC) £ (AB)C=AMBC) . rof 3.5 () - 8
o s
where A = {: ;] B= [_i ‘:]. C =[:: j:j {; ?):' ﬂ[ ;. zii]’ Cz[fll z]
(b) Solve by matrix inversion method E S 3pL Ny (<)
RANRY I, 3x-7y .2 2x Sy <l ,3x-7y=2
,9 ° (a) Find the area of a triangle whose sides bl St £ A EE o 5y ks (L) - 9
are5, 12, 13. - 13 4112, 5
(b) Prove that points A(--1.1). B(3,2) and ((7.3) are C13) a0 AC T, 1(3.2) Lliifijf: sl )

collinear G U\7,.—-— 5 - / /., -Uf b b “
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